
S.No. Language Question Option 1 Option 2 Option 3 Option 4

1 English
If                   and A2 = 3I, where

the order of A2 is 
2 × 2 2 × 3 1 × 2 3 × 2

Hindi
अगर          और A2 = 3I, जहां
तो इनमɅ स ेA2 का Đम बताएं 2 × 2 2 × 3 1 × 2 3 × 2

2 English
Simplify:

गुणवƣा Ǔनयंğण मɅ Ĥमाण-पğ पाɫयĐम
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2 English

Hindi
सलुझाए:ं

3 English sec2θ -1 cot2θ tan2θ

Hindi sec2θ -1 cot2θ tan2θ

4 English 1 2 0 ½

Hindi 1 2 0 ½
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5 English

In the given figure AC is a diameter of the circle 

and ADB = 35o. The degree measure of x is

55o 45o 35o 70o

Hindi

Ǒदये गय ेआरेख मɅ AC iवƣृ का एक åयास है 
और ADB  = 35o। ͩफर x का ͫडĒी माप इनमɅ 
स ेÈया है

55o 45o 35o 70o

The shadow of a tower standing on a level 

6 English

The shadow of a tower standing on a level 
ground is found to be 40m  longer when Sun's 

altitude is 30o then when it was 60o. Then the 
height of the tower is

20 m 10√3m 10 m 20√3m

Hindi

समतल जमीन पर खड़ी एक मीनार कȧ छाया 40 
मीटर लàबी पाई जाती है जब सयू[ कȧ ऊंचाई 
60o कȧ तलुना मɅ 30o है। तो ͩफर  मीनार कȧ 
ऊंचाई इनमɅ स ेÈया है

20 m 10√3m 10 m 20√3m

7 English

Determine the order and the degree of each of the 
following differential equations.

1, 2 2, 2 1, 1 2, 1

Hindi

Ǔनàनͧलͨखत अतंर समीकरणɉ मɅ स ेĤ×येक का 
Đम और ͫडĒी Ǔनधा[ǐरत करɅ।

1, 2 2, 2 1, 1 2, 1



8 English

A company produced a commodity with Rs. 
24,000 fixed cost. The variable cost is estimated 
to be 25% of the total revenue recovered on 
selling the product at a rate of Rs. 8, per unit, 
find the breakeven point

4000 2000 8000 1000

Hindi

एक कंपनी ǽपये 24,000 कȧ Ǔनिæचत लागत के 
साथ एक वèत ुका उ×पादन करती है। 
पǐरवत[नीय लागत ǽपये 8 ĤǓत यǓूनट कȧ दर स े
उ×पाद बेचने पर ĤाÜत कुल राजèव का 25% है। 
तो Ħेकइवन पॉइंट खोजɅ।

4000 2000 8000 1000

9 English
Solve for 'x' correct to 2 decimal places

(5.78, -1.78) (-5.78, +1.78) (5.87, -1.87) (-5.87, +1.87)

Hindi
x' के ͧलए 2 दशमलव èथानɉ तक हल करɅ

(5.78, -1.78) (-5.78, +1.78) (5.87, -1.87) (-5.87, +1.87)

Volume of two spheres are in the ratio 64:27. The 
10 English

Volume of two spheres are in the ratio 64:27. The 
ratio of their surface area is

Hindi
दो गोलɉ के आयतन का अनुपात 64:27 है। उनके 
सतह ¢ेğ का अनुपात बताएं

11 English
If A (1, 3), B(-1, 2), C(2, 5) and D(x, y) are the 
vertices of a parallelogram ABCD, then the value 
of x is

3 4 0

Hindi
यǑद A (1, 3), B(-1, 2), C(2, 5) and D(x, y) 
समांतर चतभुु[ज ABCD, के शीष[ हɇ, तो x का 
मान Èया है

3 4 0

12 English The quadratic equation x2+m (2x+m-1)+2=0 has 
equal roots. The value of m is

1 2 -2 0

Hindi ɮͪवघात समीकरण x2+m (2x+m-1)+2=0 h के 
बराबर मलू हɇ। तो m का मान बताएं 1 2 -2 0

13 English The mean proportion between a2b and 1/b is a a2 ab √ab

Hindi a2b और 1/b के बीच औसत अनुपात बताएं a a2 ab √ab

14 English If                                     , find the value of x 20 15 10 5



Hindi अगर                   ,तो x का मान बताएं 20 15 10 5

15 English
The sum of first 16 terms of an AP is 112 and the 
sum of its next 14 terms is 518. Find the AP.

(-8, -6, -4, _____) (-7, -5, -3, _____) (8, 6, 4, _____) (7, 5, 3, _____)

Hindi
एक AP के पहल े16 पदɉ का योग 112 है और 
इसके अगल े14 पदɉ का योग 518 है, तɉ ͩफर AP 
£ात कȧिजए।

(-8, -6, -4, _____) (-7, -5, -3, _____) (8, 6, 4, _____) (7, 5, 3, _____)

16 English
If the lines 2x+3y=5 and kx-6y=7 are parellel, 
then find the value of x

-4 4 2 -2

Hindi
यǑद रेखाए ं2x+3y=5 और kx-6y=7 समांतर है, तो 
x का मान £ात कȧिजए। -4 4 2 -2

17 English
From the data 37, 35, 30, 34, 40, 39, 38, 36 if 35 
is removed, the median increase by

0.5 1 2 35

Hindi
37, 35, 30, 34, 40, 39, 38, 36 मɅ स ेयǑद 35 को 
हटा Ǒदया जाता है, तो मािÚयका ͩकतनी बढ़ेगी। 0.5 1 2 35

18 English
A card is drawn from a deck of 52 cards. The 
event E is that the card is not an ace of hearts. 
The number of the outcomes favourable to E is

4 14 21 51

Hindi

52 पƣɉ कȧ एक गɬडी स ेएक पƣा Ǔनकाला 
जाता है। घटना E यह है ͩक पƣा Ǒदलɉ का 
इÈका नहȣं है। E के अनुकूल पǐरणामɉ कȧ सÉंया 
है

4 14 21 51

19 English
15 m long ladder just reaches the top of the 

vertical wall. If the ladder makes an angle of 60o  
with the wall then the height of the wall is

6.5 m 7.5 m 8.5 m

Hindi
15 मीटर लबंी एक सीढ़ȣ एक खड़ी दȣवार के ठȤक 
ऊपर पहँुचती है। यǑद सीढ़ȣ दȣवार स े60o का 
कोण बनाती है, तो दȣवार कȧ ऊंचाई ͩकतनी है।

6.5 m 7.5 m 8.5 m

20 English If              , then                 is equal to both (a) and (b) neither (a) nor (b)

Hindi अगर        तो       ͩकसके बराबर होगा (a) और (b) दोनɉ न (a) और न (b)



21 English
Increasing order of electronegativity of the 
elements is

C, N, Si, P N,  Si,  C,  P Si,  P,  C,  N P,  Si ,  C,  N

Hindi
त×वɉ कȧ बढ़ती हुयी ͪवɮयुत ऋणा×मक का Đम 
है C, N, Si, P N,  Si,  C,  P Si,  P,  C,  N P,  Si ,  C,  N

22 English The mutarotation of glucose is characterized by
Achange from an 
aldehyde to ketone 
structure

A change of specific 
rotation from (+)  to 
a (-) value

The presence of an 
intramolecular 
bridge structure

The irreversible 
change from  αD to 
βD form

Hindi
Êलकूोज के पǐरवतȸ Ģुवण घूण[न कȧ पहचान 
होती है

ऐͪवडहाइड के 
कȧटोन मɅ पǐरवत[न 
से

ͪवͧशçट घूण[न के 
(+) स े(-) मɅ 
पǐरवत[न से

अÛतराणुक सेत ु
सरंचना कȧ 
उपिèथǓत से

αD स ेβD के Ǿप मɅ 
अपǐरवत[नीय 
बदलाव से

23 English
Which of the following Polymers contain 
Nitrogen

PVC Teflon Nylon Terylene

Hindi
Ǔनàन मɅ स ेͩकस बहुलक मɅ नाइĚोजन उपिèथत 
होता है पीवीसी टेÝलॉन नायलॉन टेरȣलȣन

24 English
Generally  the electronic configuration which 
forms square planar complexes is d2 d8 d6 d4

सामाÛयत: कौन सा इलÈेĚॉǓनक ͪवÛयास जǑटल 
Hindi

सामाÛयत: कौन सा इलÈेĚॉǓनक ͪवÛयास जǑटल 
वग[ समतलȣय सरंचना बनाता है d2 d8 d6 d4

25 English
Which of the following  statement  is  false  
about  sucrose?

It  is  also called 
table sugar

It may be fermented 
by yeast to produce 
alcohol

It reduces Fehling 
solution

It does not reduce 
Tollens  reagent

Hindi
Ǔनàनͧलͨखत मɅ स ेसĐुोज के बारे मɅ कौन सा 
कथन अस×य है

इसको टेबल शगुर 
भी कहत ेहै

इसका ͩकÖवन 
खमीर ɮवारा 
एãकोहल के 
उ×पादन मɅ

यह फेहͧलगं 
(Fehling) ͪवलयन 
को अपचǓयत करता 
है

यह टॉलेन (Tollens) 
ͪवलयन का 
अपचयन नहȣं करता 
है

26 English Crystal field splitting explains
Increment in the heat 
of hydration of 
complexes

Increment in the free 
energy change of 
complexes

Increment in 
stability constant of 
complexes

all of these

Hindi ͩĐèटल ¢ेğ ͪवभाजन समझाता है
जǑटल यौͬगकɉ कȧ 
जलयोजन ऊçमा मɅ 
विृÚद

जǑटल यौͬगकɉ कȧ 
मÈुत ऊजा[ बदलाव 
मɅ विृÚद

जǑटल यौͬगकɉ के 
िèथरता िèथर मɅ 
विृÚद

यह सभी

27 English
The pH at which the amino acid shows no 
tendency to migrate when placed in an Electric 
field is known as

Iso electric point Dipole moment Iodine number wavelength



Hindi
वह pH िजस पर अमीनɉ अàल का आवागमन 
नहȣं होता जब उसको ͪवɮयुत ¢ेğ मɅ रखा जाता 
है

सम ͪवभव ǒबÛदु ɮͪवĢुव आघणू[ आयोडीन नàबर तरंग दैÚय[

28 English
According to law of mass action rate of a 
chemical reaction is proportional to

concentration of 
reactants

Molar concentration 
of reactants

concentration of 
products

Molar concentration 
of products

Hindi
ġåय अनुपाती ͩĐया के Ǔनयम के अनुसार 
रसायǓनक अͧभͩĐया कȧ दर समानपुाती होती है

अͧभकारक कȧ 
साÛġता के

अͧभकारक कȧ 
मोलर साÛġता के

उ×पाद कȧ साÛġता 
के

उ×पाद कȧ मोलर 
साÛġता के

29 English
Which of the following carbonyls do not obey 
EAN rule

Cr(co)6 V(co)6 Fe(co)5 Ni(co)4

Hindi
कौन स ेकाबȾǓनल पर EAN का Ǔनयम लाग ूनहȣं 
होता है Cr(co)6 V(co)6 Fe(co)5 Ni(co)4

30 English
The rate of reaction of which of the following is 
not affected by pressure

PCl3+  Cl2   ------   
  PCl5

N2 + 3H2  -------     
   2NH3

N2+  O2    -----   
2NO5

2SO2   +  O2 ------
  2SO3

Hindi
Ǔनàन मɅ स ेͩकस अͧभͩĐया कȧ दर पर दाब का 
Ĥभाव नहȣं होगा

PCl3+  Cl2   ------   
  PCl5

N2 + 3H2  -------     
   2NH3

N2+  O2    -----   
2NO5

2SO2   +  O2 ------
  2SO3

Hindi Ĥभाव नहȣं होगा   PCl5    2NH3 2NO5   2SO3

31 English
The substrates bind to active sites of the Enzyme 
through

Ionic bond Hydrogen bond
Vander waals 
Interaction

All of the above

Hindi
ͩĐयाधार ͪवकरɉ के सͩĐय èथल स ेͩकसके 
ɮवारा बधें रहत ेहै आयǓनक बÛध ɮवारा हाइĜोजन बÛध ɮवारा वानडर वाãस बल ɮवारा उपरोÈत सभी ɮवारा

32 English
The First order reacton is 50% complete in 80 
seconds, the time for  75% of the reaction to be 
complete is

160 seconds 120 seconds 240 seconds 80 seconds

Hindi
Ĥथम कोǑट कȧ अͧभͩĐया 80 sec मɅ 50% पणू[ 
होती है तो 75% अͧभͩĐया को पणू[ होन ेमɅ 
ͩकतना समय लगेगा

160 sec 120 sec 240 sec 80 sec

33 English
Guanine and Cytosine are linked together in a 
Polynucleotide through

One Hydrogen bond Two Hydrogen bond
Three  Hydrogen 
bond

Four Hydrogen bond

Hindi
पॉलȣÛयूिÈलयोटाइड मɅ गआुनीन और साइटोसीन 
जड़ु ेरहत ेहै

एक हाइĜोजन बÛध 
से दो हाइĜोजन बÛध से तीन हाइĜोजन बÛध 

से
चार हाइĜोजन बÛध 
से

34 English Which of the following is known as Fire Damp Methane Ethane Ethyne Propene

Hindi Ǔनàनͧलͨखत मɅ स ेͩकसको आग नम कहत ेहै मीथेन ईथेन इथाइन Ĥोपीन



35 English
A molecule can be excited to only the next higher 
rotational level by

Absorption of energy Release of energy The electric current
Applying magnetic 
field

Hindi
एक अणु उƣेिजत होकर अपने अगल ेउÍच घूणȸ 
èतर पर जाता है

ऊजा[ का अवशोषण 
कर के

ऊजा[ का ͪवमोचन 
कर के ͪवɮयुत Ĥवाह ɮवारा चàुबकȧय ¢ेğ ɮवारा

36 English
Choose the False statement -
The various types of  Extractions  are

Liquid –Liquid  
Extraction

Liquid –solid  
Extraction

Acid – Base 
Extraction

Gas – Gas Extraction

Hindi
Ǔनàनͧलͨखत मɅ कौन सा कथन अस×य है
ͪवͧभÛन Ĥकार के Ǔनçकष[ण होत ेहै ġव-ġव Ǔनçकष[ण ġव-ठोस Ǔनçकष[ण अàल-¢ार Ǔनçकष[ण गसै-गसै Ǔनçकष[ण

37 English
When Heating  one end of a metal plate, the other 
end gets hot because of

The resistance of the 
metal

Mobility of atoms in 
the metal

The energized 
electrons moving to 
other end

Minor perturbation 
in energy 
of the atoms

Hindi
ͩकसी धात ुकȧ Üलेट के एक ͧसरे को गम[ करने 
स ेदसूरा ͧसरा गम[ हो जाता है Èयɉͩक

धात ुके ĤǓतरोध कȧ 
वजह से

धात ुमɅ परमाण ुकȧ 
गǓतशीलता के कारण

सͩĐय इलÈेĚानɉ का 
दसूरे छोर कȧ ओर 
चलना

परमाण ुकȧ ऊजा[ मɅ 
मामलूȣ

38 English Cloud or Fog is an example of colloidal system of
Solid dispersed in a 
gas

Gas dispersed in gas
Liquid dispersed in 
gas

Solid dispersed in 
Liquid

Hindi
बादल और कोहरा ͩकस कोलाइडी Ĥावèथा के 
उदाहरण है

ठोस का गसै मɅ 
ͪवतरण

गसै का गसै मɅ 
ͪवतरण

ġव का गसै मɅ 
ͪवतरण

ठोस का ġव मɅ 
ͪवतरणHindi

बादल और कोहरा ͩकस कोलाइडी Ĥावèथा के 
उदाहरण है

ठोस का गसै मɅ 
ͪवतरण

गसै का गसै मɅ 
ͪवतरण

ġव का गसै मɅ 
ͪवतरण

ठोस का ġव मɅ 
ͪवतरण

39 English Baeyers  reagent is
1% cold 
concentrated 
alkaline KMnO4

1% cold dilute 
alkaline KMnO4

1% hot concentrated 
alkaline KMnO4

1% cold dilute 
acidic KMnO4

Hindi Baeyer अͧभकम[क होता है
1% ठÖडा साÛġ 
¢ारȣय KMnO4

1% ठÖडा तन ु
¢ारȣय KMnO4

1% गम[ साÛġ 
¢ारȣय KMnO4

1% ठÖडा तन ु
अàलȣय KMnO4

40 English RNA  is ribonucleic acid that plays vital role in
Maintaining 
hereditary traits

Digestive system Protein Synthesis None of these

Hindi
RNA जो राइबोÛयूिÈलक एͧसड है ͩकसमɅ 
मह×वपणू[ भूͧ मका Ǔनभाता है

वशंानगुत गणुɉ को 
बनाये रखना पाचन तğं मɅ Ĥोटȣन सèंलेषण मɅ इनमɅ कोई नहȣं


